MERCRUISER [4.3L [GEM +) [2BEL.] GM 262%-E1998)
Serial Mbr Range: OLO10044 THRU 0rME14339 ()

¥ STARTER MOTOR

Ref |Clazs|Part

Description

Comment

| A

Footnote

1 50 9630074 1|STARTER MOTOR ASSEMBELY |1 [G-Series)[Serviceable Solenoid Oh
2 10 805343 2|SCREW [3/8-16 X 45/1E M. 2

2 10 261738 SCREW [METRIC] 2 [5/M OL320000 AMD LF)

3 i BOE949|NUT (M8 1.5) 1

4 1 40021 1 NUT[M5 % 0.8) 1

5 13 39107 | LOCKWASHER (541E1N.] 1

£ 13 26996 | LOCKWASHER [#10) 2

i 25 FIE95|INSULATOR 1

g8 88 FA02345971 |[FUSE [0 AMP.) 1 [ALL MODELSISAN OLE19000 %1
3 1 13438 WUT [1/4-28) 1 [SLL MODELS)(S AW OLE19000 & L
10 MW55| FIELD AND FRAME 1 2
1A M55 ARMATURE 1

12 M55 BRUSH HOLDER AMD SPRIMG |1

13 WNS5| FRaME 1

14 MN55| SCREW 2

15 16 803004 STUDMW/HEX SHOULDER 1

16 10 203005 BOLT-THRU 4

17 M55 SHAFT AMD GEAR 1

18 WSS GASKET 1

15 M55 GEAR 1

20 803003 DRIVE 1

21 33291 COLLAR 1

22 53 33290  RING-RETAINIMNG 1

23 NS5 COLLAR-THRUST 1

24 802001T| DRIVE HOUSIMG 1

25 23 214476)  BUSHING 1

26 M55 GROMMET 1

27 80346341 SOLEWOID 1

28 WS5| LEVER 1

25 MN55| SCREW 3




